Enrollment No......ccvveereervernennens

Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020
Communication Skills [DE1101T]
Branch - ETC/ME/CS
Time: 3:00 Hrs. Max Marks 70

Note: Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.7

Q.1 Multiple choice question. [2x5=10]
Q) One word for prevention is-

(a) Act of stopping (b) Act of education

(c) Act of helping (d) Act of starting

(i)  For word upright, which word scientist uses?

(a) Horizontal (b) Perpendicular
(c) Edge (d) Periphery

(iii)  What is the 'Paradise’ that the Child talks of? -

(a) Jerusalem, the Holy Land (b) The garden, which is heaven
(c) The Giant's hometown  (d) The valleys of the Alps

(iv)  Lencho is the main character of -

(a) The Selfish Giant (b) The Last Leaf
(c) The Malefactor (d) A Letter to God

(v)  Towhom did the garden, in which the children played, belong?

(a) Their aunt (b) Unknown
(c) It was their property (d) The Giant

Q.2  (a) Describe the character Lencho.

(b) Give a portrayal of the astrologer.
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Q.3

Q.4

Q5

Q.6

Q.7

Q.8

(a) Write about the non- conventional sources of energy.
(b) State the friendship between Sue and Johnsy.

(a) Write a paragraph on how the language of science is different from
the language of common use.

(b) Discuss the adverse effects of environment pollution.
(a) Write an essay on renewable sources of energy.
(b) Write an essay on demonetization.

(a) Write a short note on Air Pollution.

(b) What are safety measures?

(a) What is process of communication? Explain with cycle.

(b) Describe the change in the character of the Giant.

(a) Write an application for the post of supervisor with resume.

(b) Write an order letter on Medical items.
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Enrollment No......ccoveevecreicvenen.

Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020

Physics [DE1102]
Branch- ETC/ME/CS
Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.
Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : femefl yeus W g5 fod 72| vem TR ' S SIfEr B |
T % 2 W 8 IF H Bl ufa & IR <1 JMfard B |

Q.1 Multiple choice Question / a&jfr= ge— [2x5=10]
(i) What is least count of Screw gauge-
(@) 0.001 cm (b) 0.01 cm
(c) 0.0001 cm (d) None of these
(i) What is the least count of Vernier caliper?
IR &7 3TeuHIS T &
(@) 0.001 cm (b) 0.01 cm
(c) 0.0001 cm (d) None of these
(iii) Which of the following behaves as an insulator-
T A DI AT PeTeId b Hd A RABR PR o-
(@) Diamond / grt (b) Germanium / sfras
(c) Silicon / ffetentT (d) Silver / =@
(iv) Light year is the unit of -
TRTeT qY DT BTS & -
(@) Time / T (b) Mass / 5/
(c) Temperature / A= (d) Distance / &
(V) The forbidden energy gap in semiconductors —
et 7 affd S 3TaR-

(@) Lies just below the valence band / arem §€ & o
(b) Is the same as the valence band / e ds % @97 &
(c) Lies just above the conduction band / @rer € & Sw

(d) Lies between the valence band and the conduction band / 9o d sk e Se &
dra
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Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

(a) Explain the construction and principle of screw gauge with the help of neat
diagram.
T BN DT HeS F UT 9T & (Hf0r JoIr RIgia T e & |

(b) What is the difference between vector and scalar quantities?
Jfer ok arfer T & diu iR T E 2

(a) State and explain Newton’s law of motion.
e & T & 177 T forRay iR FHemey 2

(b) What do you understand by motion? Explain them.
TRY ¥ 31T FIT A & ? 78 T |

(a) Explain elasticity, stress & strain? State Hooke's law.
TR, fdhett, Tftaet @t R X7 &% & R T aui aw |

(b) Explain Surface tension with its application.
SR AT & T YSIT Pl IRHTIIT P |

(a) State first law of thermodynamics.
SRR & TgeAT o Y forad |

(b) Discuss the working of transformer.
TRITBIR & B T SIRET HIRTT |

(@) What is a PN junction diode? Explain the forward bias and reverse bias
junction.
Ao ARy SIS FRT E23RIRART 3fiR vy Ry AfRy ot e |

(b) Explam the term energy band gap.
Frollers ITTRTE 2T6G Dl R DM |

(@) What is Vernier calipers? Explain the Principle and construction of the

Vernier calipers.
AR ST Far 87 afier Hferast & Rygia oiR o 6 s o |

(b) Define fundamental and derived Units? Also brief explain type of units.
Hiferen 3R gea T AR HX? gepTsal o Fiem faRor i < |

(a) State Coulomb’s law and write its expression.
o R 31 bt arfreafen ford |

(b) Write the note on Capacitors.
FgTRA W e ford |
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Enrollment No......ccovveeeiveicvenen.

Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020
Chemistry [DE1103]
Branch-ME/ETC

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : faerff yeaua R 8 fad T8 | o ye ga o3 AfErd 2

YT ®. 2 ¥ %. 8 AP H gl g &1 Sux <1 Afard 2|

Q.1 Multiple choice Question / &= m=a— [2x5=10]
(i) Which of the following is thermosetting polymer?

frfRad & & ST oM 9ga® 2 —

(a) Neoprene/ == (b) PVC/drdr=

(c) Nylon 6.6/ A/t 6.6 (d) Bakelite/ d@etse
(i) Who discovered the Neutron?

gfera If Farh 8-

(@) J.J. Thomson/ w51, effw (b) Chadwick/ =rsfaw

(c) Rutherford/ zexwr$ (d) Nails Bohr/ #fret ez

(iii) Which element has the ground state electronic configuration 1s22522p63s23p5?
o dd &1 TS e gaagie Bi-wRe 1522522p63523p5 272
@S (b) Si
(c)P (d) Cl

(iv) What is the mass of gamma y ray?
T fHR0T T S 9T 2

(@1 (b) 0 () 2 (d) 2.1

(v) How many electrons can be filled in K orbit?
K e 9 fbaq geiaei= R S Jahd 28—
(@2 (b) 8 (c) 18 (d) 32

Q.2 (a) Differentiate the True solution, Colloidal solution and Suspension solution..
I e Plassd faerd iR fHefaT & fadR w |

(b) Differentiate the Lyophobic and Lyophillic colloids.
ferarmifas sk forafhfere Picss § R oY |
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Q.3

Q4

Q.5

Q.6

Q.7

Q.8

(a) Explain the discovery of Electron with suitable diagram.
FAdSTT DY WISl Pl AT ARG B 7T DY |

(b) Explain the physical and chemical properties of copper metal.
PR o1g & AN R IERE O B AT W |

(a) Explain the discovery of Proton with suitable diagram.
I @1 @IS & AT NG & 1T I |

(b) Discuss the theory of Electroplating.
golggIelfeT & Rigla W) = af &Y |

Short Notes on -/ wfara e fera—
(i) Nuclear Fission/ u=#m] fagied (ii) Nuclear Fussion/u=arm derg=

(iii) Tydall Effect/ Csa wma (iv) Halflife/ smen Shavamra

(@) Explain the Bohr’s model of an atom and Bohr Burry scheme of filling the
electrons in various orbits.
a1 werreil # gelagiHl BT W’ & qER B Al URATY 3R dI8” G AT HT 9o R |

(b) Write a note on optical properties of colloids.
DIAES & Aificwda o1 W 7o Al fod |

(a) What is Cement? Explain in detail the production of cement with suitable

chemical reactions.
Arife g1 27 ST TG fafharet & |y e Saed # R 9 wwst |

(b) Explain Thermosetting and Thermoplastic Polymers with examples.
TETERYT P AT AT 3R UATARTd UleilaR s |

Short Noes on - / <iférat sire —
(i) Enthalpy/ deredy (ii) Entropy/grdy
(iii) Internal Energy/ s1iaRR& St (iv) Catalysis / 33RO
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Enrolment No........cccu......
Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020
Mathematics (DE1104T)
Branch -ETC/ME/CS/EE
Time: 3:00 Hrs Max Marks 70

Note:  Student should not write anything on question paper.
Question no. 1 is compulsory.
Attempt any five questions from Q.2 to Q.8.

Q.1 Choose the correct answer

(i) If cosb = 4/5 then the value of cos26- 2
(A) 7/25 (B) 9/25 (C) 16/25 (D) 24/25
& cosO = 4/5 1 c0s20 HT AF BRI
(A) 7/25 (B) 9/25 (C) 16/25 (D) 24/25
5 0 0
(ii) The matrix [o 7 ol is- (2)
0 0 8
(A) Scalar (B) Diagonal (C) Unit (D) None of these
5 0 0
A [0 7 0] PEARI 28—
0 0 8

(A) sifeer(B) faawor (C) s (D) & & i 7
(iii) Distance between the point (7, 8) and (12, 15) is - )]
(A) V74 (B) V52 (C) 15 (D) 45
famgait (7, 8) &R (12, 15) & d/a & -
(A) V74 (B) V52 (C) 15 (D) 45
(iv) Arithmetic mean of first N natural number - 2
A" B®)3 (€0 DR
UM N HH HEATSI BT AR 2—

n+1 n n-1
(A) —- (B)3 ©o (D) =-
(v) Ify = 2x° + 3x + 5 then value of Z—z is 2)
(A) 4x+3 (B) 4x-3 (C) 4x+5 (D)o
afe y=2x"+3x+5 ?ﬁZ—zzﬁrnﬂgﬁTﬂ—
(A) 4x+3 (B) 4x-3 (C) 4x+5 (D)o

Q.2 (a) Find the arithmetic mean of first N natural numbers-

verA N |H 7Rl &7 A S Bl
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Q.3

Q.4

Q5

Q.6

Q.7

b) Find the value of A, Where the vertical (1, 1) (2, 3) and (4, A) are collinear.
A & HE T B wErd &g (1, 1) (2 3) 3R @4, A) IRE 2|

a) Find the median of following data-
7 aTidel A IgAP AT IRI—

Age (@m) 30|40 | 50 | 60 | 70 | 80 | 90
No. of Female
(Rl 1 <) 3 61132153 |140 (52| 2

b) Find the area of triangle whose vertical are —
(1, 3) (2, 4) and (5, 6)

Bryet @1 &Fwd 1 )1 e o 8-

(1, 3) (2,4) 3R (5, 6)

a) Find a value of / &1 #ifsg—

cos6 sin(-6) tan(90+6)

sin(90+6) sin(180+86) cotl

b) If f(x) = x* — = then prove f(x) + f(-—) = 0
af f(x) :xz—% o Rig BT F(x) +f(xi) =0

a) Find the value of-

i) cos225 ii) sin315
71 @1 99 9d R
i) cos225 ii) sin315

. x2-
b) Evaluate lim,,_,,=——

x—

qeaid dI— lim,,_, %

a) Find the angel between A & B where A=i+j-2kandB=i+2j-k
afeer A=i+j-2kasiR B=i+2j-k & dra 307 5ira afmg |

b) Ify=+vx+ \/i}than show that 2xZ—Z+ y =2vx
Ay =Vx + & @ Rig AR 202 + y = 2Vx

2 3 3y
4
a) Find A'where A= |4 3 1]

1 2 4

Alsa e wefs A=|4 3 1

1 2 4

234]
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Q.38

b) Prove that-
sin(A+B) x sin (A-B) = sin?A —sin’B

g PI—
sin(A+B) x sin (A-B) = sin’A — sin’B

xtan~ x2

(a) Find the value of f dx

f xtan™ X

P dxzmqr:fgnaaﬁﬁm

(b) Prove that —
a*-p*
lim,_,,—— = log, ( )

a*—p*

Rrg #fog lim, o —— — = log, (g)
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Enrollment No......ccvveereervernennens

Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020
Computers Fundamentals & Its Application [DE1105]
Branch-CS

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : faerff ywua w $p fad 7€ | yom ye g F afErd 2
YT 5. 2 8 . 8 Od A b2l uid &1 IR <1 Afard 2|

Q.1 Multiple Choice Question / axjf=s ued [2x5=10]

(M The basic operations performed by a computer are -
T HYR gRT 6 T gfard) dares & —
(a) Arithmetic operation/ sf@ o sifaxer
(b) Logical operation/ aif&a sffover
(c) Storage and relative/ ssror 3k ReeR
(d) All the above/ SwRIad ¥t

(i) The two kinds of main memory are:- / %=1 %9’ & Q1 TR a—
(a) Primary and secondary / wrifie iR Areafie
(b) Random and sequential / aTge® 3k T gHi®
(c) ROM and RAMR™ 3k |
(d) All the above/ SWRIad T+t

(iii) A hybrid computer - / t& gEfde v er & —
(a) Resembles digital computer / fefSea wwer s ke §
(b) Resembles analogue computer / TATATT Hwex S fewgar 2
(c) Resembles both a digital and analogue computer /
fefSTeer iR TR Fwex S 9 fiear Seram &
(d) None of the above / SRiad # & &8 72!

(iv) Instruction in computer languages consists of -
PrYER Al H ey Wi € -
(a) OPCODE / sifumrs
(b) OPERAND / sifryvs
(c) Both of Above / SwRra gt
(d) None of the above / Swiad # & &1 ==&

(v) A computer consists of — / T& &Fgex & B 5—
(a) A central processing unit / T& @fea TR THT
(b) A memory / t& Hfa

(c) Input and output unit / s7ge 3R smseye Ife
(d) All of the above / W a4
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Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

(a) Explain the various generations of computers and characteristics.
FgeR IR IRF fagm & fafr= fd a1 a9smsy |

(b)What is computer memory? Write its types with diagram.
PRYER TR AT 27 TH ARG $ A1 ford |

(a) Explain system software and application software and also write different
Ried dffedR iR Tiases dfteder & aasy iR femifge f ford |

(b) What are Analog, Digital, and Hybrid computer.

g, fSfored, esfas $9gex & 2|

(a) Write characteristics of computer and block diagram of computer.

PR P faRrwarent #1 ford iR PRER B ARG B Ald PN |

(b) What are the different between high level language and low level language?
So WR B T R 9 W B A b S R/ SR §

() Explain different types of text formatting in Ms —Word.

TUA—Js ¥ fAf= UeR & SRe BAfST Bl AHsmsy |

(b) What is operating system’7 Write the function of operating system? And services.
STRFET Ried a1 27 TRfET Rved &1 &1 faRay? 3k |amd |

(a) What is Assembler, compiler and interpreter and characteristics?
IO, PUTgeR 3R gevley 3N dacRReed wr 2|

(b) What are search engines? Give two examples of search engine.
Td 3o T 87 Wd $oi b < Salevvl ¢ |

(a) What is Buses? Explain Address bus, data bus and control bus.
T w7 87 U 99, STl 99 iR RE 99 @ e N |

(b) Explain different types of text formatting in Ms- Word.

Ms-a2 # a1 TR & TRe BHRET & T o |

Write short note on :- / wfaret wre forg —
(i) Search Engine / & g5 (i) WWW / g s S,
(iii) Firewall / wrerdter (iv) Master Slide / arex wirgS
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Enrollment No......ccvveereervernennens

Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020

Applied Mechanics [DE1106]
Branch-CE/EE

Time: 3:00 Hrs Max Marks 70

Note :  Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
Student should not write anything on question paper.

e :  YUH YT B &l Afard 2 UT %, 2 @ 8 a9 A fedl wiw &1 SR S
afart 2| faeneff yeum w g ford =1l |

Q.1 Multiple choice Question / axjfs uza — [2x5=10]
(i) A The unit of force in S.1. units is- / S.I. SH1AT 5 I HT 3T & -

(a) Kilogram / faatam (b) Newton / =ge=1

(c) Watt / arc (d) Dyne / s+

(i) The unit of work or energy in S.1. units is -
S.| PTLAT § BRI AT I D IHTS &-
(a) Newton / =ge1 (b) Pascal / ur=het
(c) Kilogram meter / femm Hiex (d) Joule / e

(iii)  The unit of power in S.1. units is- / TA3TE SHTEAT 5 2Afh HT FBTS &-
(a) Newton meter / =ge Hlex
(b) Watt / arc
(c) Joule / et
(d) Kilogram meter/sec/ famm Hiex / dde

(iv) Forces are called concurrent when their lines of action meet in-
T T AT BET ST & ST SIeh DRATS Dl ATZ H AT & -

(a) One point / t faig

(b) Two points / 3t 3@

(c) Plane / fgumt

(d) Perpendicular planes / eaa foum

(v) Forces are called coplanar when all of them acting on body lie in-
ST T BT $1 PR BT HIYATR DT ST & 78 IR IR I PRAAT 3[3 AT &

(a) One point/ & fdg (b) One plane / ta fa=m=
(c) Different planes / fafsr= fa=r (d) Perpendicular planes / eae
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Q.2

Q.3

Q4

Q5

Q.6

Q.7

(a) What is Force and explain its Characteristics.

T T & 3R TP &0 FATE |

(b) What are the types of forces and also explain principle of
transmissibility.

AT & JBR FT & 3T HehrarelT & RIgieT or off T 1

() Explain Parallelogram Law of Forces with neat Sketch.
T Tehel < T FHTICIR TS DI e T N |

(b) Explain Triangle Law of Forces with neat sketch
T Th P AT Fl & DI I DT AT N |

() Explain and distribute Lami's theorem.
AT & TRT T T N 3R I faaRa o |

(b) Explain the Varignon’s Theorem and derive it
IR & ToRT &t et HIRTY 3iik S o AR |

(a) What is Friction and Explain Its Types with advantage and disadvantage?
0T &7 & 31 AT 3R TR b Tl 3 TR TIE N |

(b) What are the Laws of friction and also explain Limiting Friction
TNuT & 47 T & 3fiR T enfor by off S £ 1

(a) Explain the Following terms related to Machines-
it & Gefera fR=aforRa oea o GHeIST: -

(i) Resistance / ferRrer

(if) Input and Output of Machine / 72 @1 g7qe 3iik 3mSeye
(iiii) Effort / s

(iv) Mechanical Advantage/ #%freer TeaicsT

(b) What are Reversible, Ideal and Irreversible Machine in brief?
fare 7 ufcrarch, ameef 3iR smRada wefiT Far & |

(a) A force of 80N is acting at an angle of 30° to the horizontal. Resolve it
along two axis having an angle of 70° between them.

80 N T ScT &IfcRT I 30 80 o PIVT TR BRI Y 8T & I ¥ 378l P FTef 8f o, 7 S 70
axis &7 P &l

(b) A force of 100 N acts on a body in such a manner that it makes an angle
of 60 N with vertical axis. Resolve the forces into 2 mutually perpendicular
directions.

100 N T §¢T IR TR 57 a8 I PRI BT & o T8 FHreateR 318 & FTer 60 N T D107 1T Bl
Al DT 2 TRER A fEemman # gt v |
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Q.8

(@) Two forces 10 N and 14N are acting upon the body. What will be the
maximum and minimum resultant?

1§ 10 U 3R 14 T SRR WR 19 PR & 81 fTeeber 3R = g T 8 |

(b) A body of weight 100N lies on horizontal plane for which p=0.75.
Determine normal reaction, limiting force of friction, angle of friction and

horizontal force required to move it.
IR T U IRR 100N &t o o et 8T & fomads fog 75 = 0.75 81T 8 A= ufrfepar

iR o, oo 97 ol FfT B, T b DI IR S TAFTRT PR B folv 3aege Sfest
o |
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Enrollment No......ccvveereervernennens

Diploma in Engineering (Polytechnic)

First Semester Main Examination, Dec-2020
Environmental Engineering and Safety [DE1107]
Branch-CE/EE
Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.9
e : faemeft gy R §8 fad 787 | yom e gd &1 Afard 2 |

9e . 2 W #. 9 & A fHdl aig &1 SR <47 AfErd 2
Q.1 Multiple Choice Question / &< uza [2x5=10]

(i) The most common cause of acidity in water is -
T F STFeTdT T e 31T HRUT & —

(a) Carbon Dioxide / @1 grgaiiaags  (b) Oxygen / sifedtsr
(c) Hydrogen / grggie (d) Nitrogen / TsgroM

(i) On standard silica scale, the turbidity in drinking water should be limited to-
e Rifetet T o=, T & a1t 3 Herroe ST 8Fr anfey —

(@) 10 ppm / 10 didiey (b) 20 ppm / 20 didies
(c) 30 ppm / 30 didie (d) 50 ppm / soditfies
(iii) Period of cleaning of slow sand filters is about-
T TR I X fthoe df AHE H IR T & -
(@) 24 - 48 hours / 24 - 48 & (b) 10-12 days / 10-12 &=
(c) 2-3 months /2-3 98 (d) 1-2 year /12 a9

(iv) The percentage of chlorine in fresh bleaching powder is about-
TS SR UTSeR F Tl T Hfeferd oFTT 81T & -

(@) 10 to 15/ 10¥ 15 (b) 20 to 25/ 20 25
(c)30to35/30%35 (d)40to50/40% 50

(V) Which of the following compounds is widely used for algae control-
frferRad & & I 1 Aifites caTae wU | Saret 20T & foTq SURT B ST & —

(a) Sodium Sulphate / JifeT Fethe
(b) Copper Sulphate / ®HR Fethe

(c) Sodium Chloride / Sfsa FaiRIsS
(d) Calcium Chloride / feerm weirgs
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Q.2

Q.3

Q4

Q.5

Q.6

Q.7

(2) What are the Impacts of human being and environment on each other?
ST 3T TATeRUT & Ueb §R R TG T 872

(b) What do you understand by Biotic and Abiotic system and explain aquatic

ecosystem in detail.
Sifdes 31k Srifdes ToTTeft I 3T orT eI & #fR STetia aTiRReerfoiss o &f fiRaR & 9= |

(a) What should be the basic approach to improve environmental qualities?
qafaRufT U &Y GER & forT JFRITET gf¥epIoT R 8T Arfey?

(b) Write a detailed note on pollution along with its types, their impacts and
methods to control.

TIGHUT & YR, S THTE 3R fRIA0T & cRiebT IR Ueb eyt Al fores |

(a) What are the air pollutants? Give their names and classified them.

g UG AT &7 Ib A < 7R I afiepel N |

(b) Give the Standard definition of air pollution and what is the composition of
natural air.

AT UGHUT &1 Heh YIRATST & 7R TIepfcrep &alT bl ARaT T & |

(a) Write short note on: / Sfam e ford:
(i) Acid rain / TRy aiRer

(i) Global warming / Tieet arfHr

(iii) Greenhouse effect / i &3 wTer
(iv) Ozone layer depletion / 39 8/ gTa

(b) What are the major toxic metals and their effects?

(a) What is the natural purification process of air?
T &1 UTepfcieh YfepRuT HfshaT T &7

(b) Give brief note on absorption and adsorption.
TIINYUT TR ARGAT R A e < |

(a) Explain Condensation and combustion briefly.
BT 31R S5 FAT F TR |

(b) Give brief description of any 2 control equipment’s along with sketch:

g & are T off 2 =T Suaul & |fEm fewor <

(i) Gravitation settling chamber / Tocarenyor fuer wer
(i) Cyclone / =rghara

(iii) Scrubber / ThaR
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Q.8

Q.9

(a) Define the Water Pollution. Explain Water pollution laws and standards.
STl SIEHUT T URHTIE ehR] STeT SEHUT ebI=fiAl TR HIehi i AT N |

(b) What is the noise pollution? Explain the sources of noise pollution also.
9IR TEHUT T 87 2R TS0 b ATl l T qoeT |

(a) Explain Biological oxygen demand and Chemical oxygen demand.
i STiafaT &T H1T SR AT~ 3iardiorT 6t AT BT T |

(b) What is the basic process of water treatment? Explain primary, secondary

and tertiary treatment methods of water. ‘
STeT IR T HeT TfehaT T &2 T b HTIHep, ATeafies iR Joiie Iuar fAfery $t e

P |
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Enrollment No......ccoveevecreicvenen.

Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020
Introduction to Computers [DE1108]
Branch-CE/EE

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

Question no. 1 is compulsory. Attempt any five questions from Q.2 to Q.8
e : faerff yeaua R 8 fad T8 | o ye g o3 a2

YT ®. 2 ¥ ®. 8 dP § gl g &1 Sux < Afard 2|

Q.1 Multiple Choice Question / s g [2x5=10]

(i) The two kinds of main memory are- / &7 %9R} & &1 HoR &-
(a) Primary and secondary / wreifiies 3iiR Areafias
(b) Random and sequential / argfee 3R i
(d) ROM and RAM / ROM iR ¥
(d) All of above / SRR Wt

(ii) A computer consists of- / T IR B BT € -
(a) A central processing unit / T& HeRT TR 3hTS
(b) A memory / w& FHfer
(c) Input and output unit / $79e 3R 3TSTYE fTe
(d) All of the above / IwRrs it

(iii)  The brain of any computer system is- / fépeft =it soegex e a1 aRash & -

(@) ALU /twerg, (b) Memory / 7

(c) CPU / didig (d) Control unit / =T gar8
(iv) A byte consists of- / T age FaT §

(@) One bit / v foe (b) Four bits / =R foga

(c) Eight bits / a1s fag (d) Sixteen bits / Hrg facw

(V) Machine language is- / 7l 99T 8 -
(a) Machine dependent / #2fi9 &R f13R
(b) Difficult to program / @iz & forv qfieer
(c) Error prone / Ffe waur
(d) All of above / IwRi T+t
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Q.2

Q.3

Q4

Q5

Q.6

Q.7

Q.8

() Draw the block diagram of computer and explain working of it's various
parts.
PRI & sl ARG D FT P 3R FP AT AT P P F IR F ITC |

(b) Explain input and output device of computer. With diagram
PIER b FTYC 3IR ATICYC fSaTew bl ey |

(a) What is software? Explain system software and application software.
RATFEERR T &7 Explain FUTel! 3R SFIHRANT |IFCaRR |

(b) What is memory? Explain classification of memory.
TR T 82 Memory & JTehRur Y IRET I |

(a) What are compiler assembler? Explain with diagram.
Compiler AssemblerdT & 3TRRG & TS FH |

(b) What is operating system and function..
RIS R @R thae RT & |

(a) what are the advantages and disadvantages of high level language.
SRl TR AT & RIS TH T8 |

(b) Explain different types of network topology and advantages and

disadvantages.
AR JBR & Acad Srdictsl 31k HIS TS |

(a) What is window explorer?
foer TR T ¥ |

(b) Describe characteristics of computer.
HIYCR DT fARITATSAT T JUT PN |

() Explain number system and it’s types
T TUTTEAT 3R HehR &t AT I |

(b) Explain properties spreadsheet package in windows.
faer 7 vt Wreefic YoreT AH==T |

Write short note: / &g Aiie fors
(i) Network topology / Sead Srtetstt

(ii) Internet / e
(iii) Search engine / & go
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Enrollment NO......oevveirecrrennne.
Diploma in Engineering (Polytechnic)
First Semester Main Examination, Dec-2020
Engineering Drawing (DE-1109T)
Branch-CE/EE

Time: 3:00 Hrs Max Marks 70

Note : Student should not write anything on question paper.

qe

¥

Q.1

Question no. 1 is compulsory.
Attempt any five questions from Q.2 to Q.7 (12x5=60)

faemeft ywua R §5 fad T | yom ueH & 1 Afad 21 U 2 94 8
q PIS 5 U & BN |

Multiple choice Question: (2x5=10)

(i) Full form of T.V. is?

T.V. &1 qx1 =9 8?2

(a) Top View/ <tu 91y (b) True View / ¢ _d1g,

(c) Tensile View / o591 917, (d) None of these / s & &Is &1

(ii) How much angle of section? / @9 (HTe) HT HivT FraT 272

(a) 45° (b) 42°

(c) 40° (d) 30°

(iif) How much sides in octagonal? / sr<®ior &1 |ar il 27
(a) 8 (b) 9

(©)7 (d)5

(iv) The ration of dimension is? / @13t &1 3rgura siar 27
(a) 2:3 (b) 3:2

(c)2:1 (d) 1:2

(v) Isometric scale use for? / afifts @@ SyaT 3t STt 272
(@) Isometric Projection / afafta s

(b) Isometric View / afifaa gza

(c) Isometric Angle / afifta ®ior

(d) Isometric Line / afafaa @
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Q.2

Q3

Q.4

Q.5

Draw the projection of following points on the same ground line,
keeping the projectors 25mm apart-

(a) A, in the H.P. and 20mm apart

(b) B, 40mm above the H.P. and 25mm in front of the V.P.

T & o vEr W Freafafaa Qe @ sgaet o smefa aR, gividey &t
25 MM 3T & gU—

@fsg A HP.% 2 20mmV.P. & di8 2|

(b) fag, B, 40mm 3w @ H.P. & 3Rk 25mm ura 8 V.P. & |

(a) Draw the projection of cone base 75mm diameter and axis 100mm
long wing on the HP on one of its generator with the axis parallel to the
VP.

U g f9a aa &1 | 75mm ik 3| 100mm ddl 31 &1 St = i )
ST AT ° a2 3er VP @ WA} 8 | 9T 9ISy |

(b) Draw the isometric view of cylinder if diameter is 50mm and height
is 70.

JURATYT ¥ &1 49 §913¢ Ifs 50mm =amE9 @ 70mm 3418 =2 |

(a) Draw the isometric view of pentagonal pyramid if side is 45mm and
Height is 70mm.

TagueR fRfre o1 awafaer g3 915g, Ifs 45mm &) o 2 a9 $ars
70mm 2|

(b) Draw the isometric view of Hexagonal prism if side is 40mm and
Height is 70mm.

JURATYT ¥ &1 SCHOTHR UsH g3y afe 70mm &1 Sars @ an qul
40mm 2|

(a) Draw the projection of Frustum of the cone if outer diameter is
60mm, inner diameter 40mm and height is 70mm. .

T BT BIHA 915¢ a1 Hu =g 60mm wE sisdl @™ 40mm 3R
Sars 70mm 2| :
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Q.6

Q.7

(b) Draw the isometric view of pentagonal prism if side is 35mm and
Height is 65mm.

TagueR fUsw &1 smgwrifed fa= sarswl afs 35mm @t ger w@ 65mm
S8 2|

(a) A square ABCD of 40mm side has a corner on the HP and 20mm in
front of the VP all the sides of the squares are equally are inclined to the
HP and parallel to the VP. Draw its projections.

ta g1 ABCD fo@at goir 40mm HP & uR @ 3k 20mm VP & |+ 7 |
T &1 wfl g gt 81 HP 4 3k awexr 2 | VP 4 uau yslRfa sifvg
(b) A regular pentagon of 25mm side has one side on the ground. Its
plane is inclined at 45° to the HP and perpendicular to the VP. Draw its
projections.

TP T sl o 25mm @) ta qo auad @ $UR § ol 45° FHl
g3 21 HP ¥ &k evgaq 2| VP @ 98y §918Y |

Draw figure following terms-
(a) Glass / =1a

(b) Wood / ar&<Y

(c) Plywood / witsqs

(d) Liquids / <@

(e) Marble / srda

(f) Rubber / &%

(9) Concrete / ®ismie

(h) Bricks /s

(i) Earth / ge<dY

(j) Steel / «ra

(K) Lead/ &=

() Leaf — Spring / faw—wdfiT
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